JAVA

Chapter 2 Examination {260 points}

NDPW {+10}

Answer the following using nouns, verbs, and -ly words. {+10}

	

	1.
	(T/F) Objects are entities in your program that you manipulate by invoking methods. {+5}


	2.
	Which of the following statements will create a new Rectangle object? {+5}

	A)
	new Rectangle(5,10,20,30); 

	B)
	make Rectangle(5,10,20,30); 

	C)
	new Rectangle; 

	D)
	Rectangle cerealBox; 


	3.
	You construct an object of a class with the ____ operator. {+5}


	4.
	An object is a "black box" with a public ____ and a hidden ____ . {+10}


	5.
	Which of the following defines an object variable of type Rectangle? {+5}

	A)
	Rectangle myRec; 

	B)
	rectangle theRec; 

	C)
	new Rectanlge(); 

	D)
	new myRec; 


	6.
	Which of the following are VALID variable names? {+5}

	A)
	public 

	B)
	person1 

	C)
	3Cats 

	D)
	myRec 

	E)
	the-rec 

	F)
	MY_3_CATS 

	G)
	B, D, and F 


	7.
	(T/F) Given the statement: {+5}

Rectangle deskTop = new Rectangle();

the deskTop variable contains the object. 


	8.
	In the statement

     new Rectangle(10,20,30,40);

the values in the parentheses are called... {+5}

	A)
	construction parameters 

	B)
	definers 

	C)
	method return type 

	D)
	definition values 


	9.
	Given this code segment:

Rectangle rec1 = new Rectangle(10,20,30,40);

Rectangle rec2 = rec1;

What is the result when you try to compile and execute the code. {+5}

	A)
	rec1 and rec2 contain references to the same object. 

	B)
	You get a compile error. You can not assign rec1 to rec2. 

	C)
	You get an exception( error) when you try to execute. 


	10.
	Check all correct answers. {+10}

A method definition contains 

	A)
	an access modifier 

	B)
	the return type 

	C)
	the new operator 

	D)
	the name of the method 

	E)
	the body of the method - a sequence of statements enclosed in braces 

	F)
	parentheses which contain any paramenters 

	G)
	the name of the class 

	H)
	A, B, D, E, and F 


	11.
	Use the ____ statement to specify the value that a method returns to its caller. {+5}


	12.
	(T/F) Given the following class definition: {+5}

public class Greeter

{

    public String sayHello()

   {

       String message = "Hello, Class";

       return message;

   }

}

After compiling the file Greeter.java, we can execute the resulting file Greeter.class. 


	13.
	An object stores its state in one or more variables called {+5}

	A)
	instance fields. 

	B)
	Object values. 

	C)
	Return field. 

	D)
	class values. 


	14.
	The process of hiding the object data and providing methods for data access is called.... {+5}

	A)
	encapsulation 

	B)
	construction 

	C)
	programming 

	D)
	accessibility 


	15.
	Which of the following is a valid constructor for a class called Car? {+5}

	A)
	public class Car(String model) 

	B)
	public car(String model) 

	C)
	public Car(String model) 

	D)
	Public Class Car 


	16.
	The javadoc utility uses which of the following as a special delimiter for documentation comments. {+5}

	A)
	/** 

	B)
	/* 

	C)
	// 

	D)
	<-- 


	17.
	If you do not explicitly set a numeric instance field, the instance field ... {+5}

	A)
	is not initialized. 

	B)
	is initialized to 0. 

	C)
	is initialized to null. 

	D)
	is initialized to blank. 


	18.
	In Java, the implicit method parameter for instance methods is ____ . {+5}


	19.
	In general, the technique used to access an instance variable from outside the class is to: {+5}

	A)
	Call it by name 

	B)
	Can't inquire about them 

	C)
	Call a method to do it 

	D)
	Mental telepathy 


	20.
	The code for every Java method must be enclosed in: {+5}

	A)
	curly braces 

	B)
	parentheses 

	C)
	Loop 

	D)
	If statement 


	21.
	The main purpose of a constructor is: {+5}

	A)
	Construct a method 

	B)
	Initialize instance variables 

	C)
	Name the method 

	D)
	Return a value 


	22.
	If there are two or more constructors for a class, the constructor is said to be: {+5}

	A)
	Duplicated 

	B)
	Overloaded 

	C)
	Encapsulated 

	D)
	Objectized 


	23.
	Verbs in the problem definition statement are very useful for identifying: {+5}

	A)
	Classes 

	B)
	Methods 

	C)
	Constructors 

	D)
	Instance variables 


	24.
	Explain the difference between the following two sets of declarations and associated statements. {+10}

int a = 5;

int b = 10;

a = b; 

Student s1 = new Student ("Joe Smith");

Student s2 = new Student ("Sue Brown");

s1 = s2; 


25. Explain the difference between implicit and explicit method parameters. {+10}



26. Look at the code below and identify 7 types of JAVA Style shown. {+35}


import javax.swing.JOptionPane;

/**

   This program tests the Purse class.

*/

public class PurseTest

{

   public static void main(String[] args)

   {

      double NICKEL_VALUE = 0.05;

      double DIME_VALUE = 0.1;

      double QUARTER_VALUE = 0.25;

      Purse myPurse = new Purse();

      boolean done = false;

      while (!done)

      {

         String input 

            = JOptionPane.showInputDialog("Enter coin name or Cancel");

         if (input == null) 

            done = true;

         else

         {

            double value = 0;

            if (input.equals("nickel"))

               value = NICKEL_VALUE;

            else if (input.equals("dime"))

               value = DIME_VALUE;

            else if (input.equals("quarter"))

               value = QUARTER_VALUE;

            if (value != 0)

            {

               Coin c = new Coin(value, input);

               myPurse.add(c);

               double totalValue = myPurse.getTotal();

               System.out.println("The total is " + totalValue);

            }

         }

      }

      System.exit(0);

   }

}


27. Describe the GraphApplet. {+10}


28. Given the following scores on a Portfolio in JAVA , determine the student’s grades. {+15}


	
	1st Q Mid
	1st Q

	Overarching Process
	3
	4

	7 Systemic Parts of JAVA
	2
	1

	Your Ability to Test
	2
	3

	Web Page/ Growth
	0
	2

	Journal
	1
	4

	
	
	


29. Describe the relationship between the Greeter and GreeterTest. {+10}





30. Explain the process you use to compile and execute a JAVA program. {+15}





31. What’s happening here? {+10}


import java.applet.Applet;

import java.awt.Graphics;

public class LifeCycle extends Applet {

  String[] events = new String[2048];

  int i = 0;

  public void init() {

    events[i++] = "initializing... ";

    repaint();

  }

  public void start() {

    events[i++] = "starting... ";

    repaint();

  }

  public void stop() {

    events[i++] = "stopping...";

    repaint();

  }

  public void destroy() {

    events[i++] = "destroying...";

    repaint();

  }

  public void paint(Graphics g) {


for (int j=0; j < i; j++) {

      g.drawString(events[j], 5, 15*j + 15);

    }

  }

}
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